 Adding
Polynomials

[z .
-1.-\"( " 1. Determine each sum.

al 5a?+2a+ 1 b) 5n*-6n+5 c 4y2- 5y-3
+ a*+6a+5 + 2n*+8n-3 + 8y2-12y+ 4
(Q(f-f?@* ) T +@n +2- |2.37'—— \']\31-\
d) 3x2+ 4%~ 6 el b*-4b-10 f) 2r*+3r-5
+ 4x2-4x1-6 : + 2b2-4b+10 + 2r+6r+4
X= +O - 3b%-% |
gl 8m?+6m- 12 h) 252+3s - 1 i) 4c*-10c + 8
+ 5m-11 + 4s? +10 + -4c2+10c-8
2. Determine the sum of these polynomials.
a) (3a%+2a+1)+(a?-3a+5) b) (-2r2+r-1)+(4r2-r+5)
c) (4b2-6b-1)+ (-5b% + 6) . d) (6c-5)+(3c2+2¢)
e) (x-2x+6)+(-2x%-3x-10) f) (Ty?-8y) + (5y-11)
731— B
g) (3n2-12) +(4n? + 6n + 10) h) 68~ a+1) + (232 + a-5)
_%0}_ ,_+
D ) m-5me (5m+3m=-1) J) )Bxt +6x~1) + (3x2 - 2x - 5)

‘QXZ+%x—b
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1. Subtract and simplify like terms, if possible.
" b) 15y2 - 10y?

a) 9x-6x

X Sy

d] 15¢c-1{2c+1)
1Sc-2¢ -\

|2¢ - |

2. Simplify each expression by subtracting.
a) (ba+7)-(3a+2)

6_0&'7 - o -2
A+ S

c) 5n? - (-3n% + 7)
S+ 30T
T -7
e) (2y?+3y-1)-(4y2-2y+3)
Q\jl-k?)\j-l ~'+tj7‘+;j -3
. Q\jl N Stj y
/A )

(@) Ib?+7) - (8 + 6b- 5b?)
b1~ § - oSBT

ebh* -hb -

el 4a*-(4-23a%

Gol-4 + Ja*
o> -+

c) 2b*-3b° Q

*

f) 3c-(2¢*-5)

b) (2x? + 3x) - {x*-6x)

A+ 3x = X T+ bX

Xzfcfx

d 10-(2x-12)
[O-Ax+11
—AX +>-

f) (2a% + ba) - (7 - 4a)
Actr+5a-~T+%a
Qo.t+ Ya -]

@(hz—h—ﬁ)—(5h+12)
K2 oh-b=Sh —12

he-h -\%



